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The wettability of a surface by a liquid depends primarily on

(A)
B)
©

J.

(E)

viscosity

surface tension

density

angle of contact between the surface and the liquid

Answer not known

@ LTLIeHL @ STEUSSTE) FFLOTEELD am@@gs&rmmun&s & HS)ETETg)

A)  unghlae
B) urllupeiens
© oLisd
D) LIIJIQIL{:IBIB@L'D SreusnEd Qe Guw o erer CerCamenTid
(E) oo Qsflweldeame
IUCAA stands for
"(A) Indian University Centre for Astronomy and Astrology
- (B) International University Centre for Astronomy and Astrophysics
(C) Italian University Centre for Astronomy and Astrophysics
ﬁ Inter-University Centre for Astronomy and Astrophysicé
(E) Answer not known :
TUCAA-cfler eflflaumissid
(A) Indian University Centre for Astronorﬁy and Astrology
(B) International University Centre for Astronomy and Astrophysics
(C) - Italian University Centre for Astronomy and Astrophysics
(D) Inter-University Centre for Astronomy and Astrophysics
(E) eflenL GQasfuwielicvane
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3..  Which one of the following fertilizer has the highest nitrogen content?
~ (A)  Super Phosphate of lime

(B) Calcium Ammonium Nitrate

-d Urea

(D)  Ammonium Sulphate

(E) Answer not known

S p&aETaIDd 2 hiSETd 6Tg) <5ls é;meq BT ENETES @asrrm'r@@:nm@]?
A) srdflub Guur urrsiu@glj_

(B) sredlub subGurailwuw epl Gyl

©) wllwur

D) oubCuwreaflwub saGui

(E) d&lenr GQsMlweilcrene

4.  Which of the following statement is incorrect regarding blue green algae?
(A)  The thallus is unicellular
(B) The reserve food material is cyanophycean starch
M Absence of mucilage around the thallus
(D) Sexual reproduction 1s absent

(E) Answer not known

Spssameupmer Heriusid Lndledr updlu seuprer spn e1g)?
@) @ 0o oL@l (sraeb)
“B)  Gadiy &am‘reﬁ FwGenms senLifl m& §5U6;Li3 2 GLD
(C) sy oL wsmss Gbg LLHCah LiL b srarliuBeigdmea
(D) urraﬂemﬁ@u@é;a;m el (heudldoena

(B) oL Qsfueieeme -

GSHA/2021 4



‘Which one is the common stage for both aerobic and anaerobic respiration?

M Glycolysis

Krebs cycle
(. Tricarboxylic Acid Cycle
(D)  Oxidative Phosphorylation
(E) Answer not known
STHD LHmID sTHHlONE seurdssddar GLTgeuTar Hlaa erg)?
A Severssranedlen
B)  druev spné
(C) - Lenpsiu rféssrﬁ]eﬁl& Sl &HLpmHél
D) seligCampp u.rrsipur‘rlasf;rew_[.b
(E) oo Qsflwellcvane

Select the correct sequence of origin and conduction of heart beat in human being
(A) AV node-bundle of his -SA node-Purkinje ﬁbres
(B)  SA node-Purkinje ﬁbres-AV node-bundle of his
(C) Purkinje fibres-SA node-AV node-bundle of his
SA node-AV node-bundle of his-Purkinje fibres

(E) ~ Answer not known

OBWUSHIETL D §leUSSAPLD, G(ﬁ@uu@g@g)@m BenL_GlLimib rﬂaagpafﬂsm gflwrer euflenganu
Caiipbs® - -

(A) AV sg- afldvadiar samssspmp— SA san Lidand G

(B) SAsan- uidlas) Qenp— AV sami — aflevedler samessnan

©) uidleng) @eio- SA sgp-AV sep- afldalier s@ssap@p

(D) SAsgn- AV say -aflsvalien samsbspeop— Lidang Gaip

(E) oL Osfluaidma
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7. Select the disease for which the first synthetic vaccine was produced for the first

time in the world

(A) Polio
Hepatitis B
(C) Rabies

(D) Chickenpox

. (E) Answer not known

2 dle @g,d) psedled Spsaarr erhs CrmusE@ Qewnams sHLULLE s Pl L g)?
(&)  GuTHCLN |

(B) Gaptiuemiigev B

(C)  Cp9ev Grmis

(D) Aenerbeno

(E) e&9enr Qs flwefdame

8. The floating national park is situated in

(A) West Bengal

y _ Manipur.

(C) Kerala
(D) Nagaland

(E)  Answer not known

0&5&@ CoAWILILLBIST eThiGeTeng) ?
A)  CuwiE eumsrerd

B)  wefiy

(C) Gspern

D) mrsemmg

(E) oflenr @g,rﬂmaﬁ]ébmsu
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10.

Which bacterium synthesize biodegradable plastic?

A)
(B)
(©

(E)

(A)
(B)
(©)
D) -
(E)

Thermoplasma
Methanobécterium
Halobacterium
Ralstonia

Answer not known

&g undleflwid 2 vl il Aageaiam b gerano Clamem Opdferw 2 HUSSH Qeidpg?

Qg TCwmSermeviom
QwssCanrunsgte fwid
aprGarungte f u..I.Lb
grenCLnmesflwm

efenL Azflweldeana

An extraction of tender leaves of papaya and herbal drink nilavembu kudineer is
given to dengue patients, which increases in the human blood.

(A)
(B)
(D)
(E)

RBC

WBC

Blood Platelet Count
Both (A) and (B)

Answer not known

uuurel @eesafar QamwbHedHHg aT@&EILLH s L ULl L Syeib wHmib ‘r_ﬁ]a)(:a_u_'ﬁu
gemubd gfHwees QLmEg Comi urdlssiul L CrrurellsEnsE Casrhssliu@dng. Qs

Q55586 ———— aanaflsmamu HsNEHng).
(AY RBC-srowveioes

(B) WBC-an erawramtlseans

©) @usss s Osafan ramafisomns

D) (A) womw (B)-
I (E) &l Qsfweldene
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i3 Gus‘tave-Trouve Award (2020) was received by
| (A) Surya
) Yujan
j Aditya
(D) Athikesav

" (E) Answer not known

2020 samew @66y L(Hew Gﬁ]@ramg, (Gustave-Trouve Award) Quﬁ)g}ajr’r wIm?

A) @wr
B) wygen
©) <dsun

D) <=HCszeu

(E) e&flenL GgMlweilevanen

GSHA/2021 _ 8



12.  Identify the ports of India labelled as 1, 2, 3 and 4 in the given Rough map of India.

@A)
(B

D)
(E)

Haldia, Paradeep, Masulipatinam, Tuticorin
Paradeep, Haldia, Masulipatinam, Tuticorin
Tuticorin, Masulipatinam, Paradeep, Haldia
Masulipatinam, Tuticorin, Haldia, Paradeep

Answer not known

Qarpssiu_Berer GCamymu QpHw euemguLgdler 1, 2, 3 wpgid 4 ey GH&SEIUL (Herer
@B FeDpsLIGmETS SarTL_(H .

A)
B)

©

D)
(E)

anregWm, UMISL, EESIULIL I amnd, SI58I5E)-
UMFSL, anmedig i, @I g QD HI5SISE)-
816815\ EGIILL g ad, UTFSL, @nmedig wim
@I 1g @ILD, FNSSIS@GI. ADTOGWIT, UTFSL
aflent Qs flweldame :

GSHA/2021
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13. When was the National Early Childhood Care and Education (NECCE) Policy

launched?
J 2013 (B) 2017
(C) 2018 ' . (D) 2019

(E) Answer not known

R T LTGETLL DR SSIGIE LD T GRS 57
(A) 2013 ' (B) 2017

(C) 2018 (D) 2019

(E) efavi Qg,rﬂuaasbmm

14. How many persons were registered.their names in electoral roll in the 17th lokshaba

election in 2019?
(A) 80 crores
(B) 84 crm%es
(C) 89 crores .

J - 90 crores

(E)  Answer not known

2019, 17—@@] wésaramey  Csigedldr amssreriserns ufle] Csig Osrarmeuirsefler

crenTenfl&Eans eTeueUETa?

(A) 80 Gsmg
(B) . 84 Gsmg
(C) -89 Csamy
D) 90 Gy

(E) eflen Ggflwederanay

GSHA/2021 10 e



15.

16.

Which of the following article of Indian Constitution deals with election commission?

.M

(B)
(©)
D)
(E)

Csiige amarusms Ln eflearé@b SirflumeanliLy el

A)
(B)
(©)
D)
(E)

Article 324
Article 325
Article 323
Article 326

Answer not known

94 324
94 325
o945 323
98 326
eflenL Qg flwelerency

In which sport S. Ilavazhagi excels

A)
(B)
D)
(E)

Chess
Wrestling
Carrom
Tennis

Answer not known

Cl&. @ereupdl FHg) sfleniidlws eflenemus m_(®

(A)
B)
(©)
(D)
®

Qe

LODUSSLD
Cayid
GlL_eerflev

eflenL QgMwelerena

11
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17. India’s first indigenously constructed nuclear submarine that was ‘commissioned into
service in August 2016 was?

(A) INS Vikramadithya (B) _INS Viraat
(C) INS Sindurakshah w INS Arihant

(E)  Answer not known

@ndureile o eTHM 146 &L ewssiiu’ () 2016 gysevl wrgn Cemeuuid @amenrssul L

<igml Hieppdls sliue e7g)?
(A) m.eraneren. ellsyorHswur - (B) sp.cerém.eran. efym
(C)  m.eram.ere. Apgirsagm (D)  g.erem.eran. fManbs

(E) &fen Qzflweldane

18. Assertion (A): Since the moon is smaller than the earth, it has 1/6 of the
: gravitational pull of the earth ;

Reason R) : So the man weighs 16 times less on the moon than the earth.

w (A) is True, (R) 18 False
(B) Both (A) and (R) are True and (R) is the correct explanation of (A)

(C) (A)i1s False, (R) 1s True
(D) Both (A) and (R) are True but (R) is not the correct explanation of (A)
(E) Answer not known

gmhm (A) : spdren yelenwell HAPwig eramugmed sigen mil &8 yelluder iy
: #&Hufed 1/6 wiriug wiHGw. :
sryentd (R) : aanGeu waflgiser ahdraie qeﬁ]@mmaﬂl_ 16 wLLBE Tl GMDeUTS
@ mLLmTTser.

A (A &fl yamed (R) seum
B) (A womgd (R) @rewr@o &Ml oemed (R) eremug) (A)-eln@ sflwimer Gﬁlmaaasm

© @A BN T (R) M .
(D) '(A) wHpb (R) @rewr@ &fl yeammed (R) Grsmugj (A) -aflh@ eflwmer eflengsiea
E) e Qsflwelerene

GSHA/2021 12 =



19.

Read the sentences below and give the correct answer :

Assertion (A) :  Extinction is defined as the permanent disappearance of an organism from

the face of the earth.

Reason (R) : Climatic change accelerates the competition between large mammals for
shelter and food
(A) (A) Wrong (R) Correct
d Both (A) and (R) are Correct
(C) (R) does not explain (A)
D) (A) only correct
(E) Answer not known

ECp Qar(Rssliul(Herer cursdunisamert Ligsdg eflwmer efeLwall&seyb.

gapm (A) : 2 fpgCunse eaug @@ @eand yalew L6 whHilad wobHs)
QLJI'I'G;J‘&';F'I'@L;D‘
smyentd (R) : &re Hlene wrHMmGET QU@L LTI 19&5EHsE@ QG 2 arellhsrsea b

A4)
(B)

(©)

O

(E)

QoudLgdpsnse)d Guriyeow Selriu@ssEng.

(A) seup (R) &l

A) wppid (R) @ren@id o
(R)-(A)-eneu aﬁlmésa;eﬁ]éoemfsu
(A) i G

e Qsfliueldama

13 GSHA/2021
[Turn over



20.  Which of the following statement has the Risk Reduction measures for cycione?

a
I1.
IIL.
V.

o

(B)
(©
D)
(E)

Ignore rumors, stay calm don’t be panic.
Keep your documents and valuables in waterproof containers.
Prepare an emergency kits with essential items for survival

Switch on all the electrical appliance

I, IT and III are correct
I and II are correct

II1 aﬁd IV are correct
IV only corre.ct

Answer not known

Qarhssiul_Herer ér'_r'r,g_r, aumsHwibd yweler Gumgy Wearunm Geuatrigw sumw GCairey @GemUiL

I5L_GLl1q &6 EHEET

L

IL

I11.

IV.

(&)
®)
©
D)
)

GSHA/2021

Csmeuwny aughismarnb, LUgHDSMSLLD FeMTESM M DF STESEILD
PSS LIDTET SLEUTERIS@ETUD DHHID 2 L @&S®ED saal Lsrs Qui L agdled

LSS TG areU&HEe LD
2 19 e Sieugy 2. 568 QUL L ssms swiblaeudle mmgﬁ@mmm

Simansg) Wlenay rganmisafen 6@ ameRTIenLILD §IeRTq &5 Geuam_md

L, II wpmb ITI sMwremeneu
I wpmb II sflwrenenau

IIT womb IV #flurerenel
IV w0 @ib sfwirens |

eflenL Az Mwelerenen
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21.

Assertion (A) :  The Third Battle of Panipat in 1761, paved the way for the rise of the

British Power in India.

Reason (R) : The defeat in the battle dealt a severe blow to the Marathas and the

Mughal empire.

A -~ (A) is true, (R) is the correct explanation of (A)
(B) (A)istrue, (R)‘is false
(©) Bolth (A) and (R) are false
(D) | (A) is true, (R) is not the correct explanation of (A)

(E) Answer not known

gapp:  epampmd uraliul. Gum oymdCawfer ofar awsdss afleEsss.

sryewid : @&Csmaed LITSHLMmESGL,  WsOTLHBSGD @ Cuflu  FiéRows
CsTHS58)!.

A)  smpy &l : srganrd spdler sflwmear ellaTésd < @W
B) sapm &l : aswm& Seum

©) &mpm LDﬁ).QiL'D STIERTLD SEUDHTETENE

D) sapm e : sryawrd sapler sflwrer eflerésid ad)_au

(E) eflen Qzflwueildana

15 ~ GSHA/2021
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22.  Who was called as Tron Man of India’?
(A) Nehru

M Vallabhai Patel

(C) Rajendra Prasad
(D) Rajaji

(E) Answer not known
@EQU—'WG&G&T QY weflgm erem DanpssLILIHLIGUT WTT?

@A) Crpm

(B) aeeund uGLe
C) @uCgndr Grsré

D) = Qg
(E) ofen Qsflweldena

23.  Which one of the following incorrectly paired?

Mirabai — Mabharastra
(B) Chaitanya — Bengal
(C) Ramananda — Prayag
(D) Namadeva — Maharastra

(E) “Answer not known

EDESTL_cUDNIET 68 SuDTEL QUIHSSILL HeTarsg).

(A) Sy -  LDSMYTESIgFLD
(B) aeganur —  GQURIGTETLD
(C) @jrrmrrm(r_‘r;g,r’r - Qpwures
(D) mrwCgeurt —  LD&TJTESlqIT

(E) o&ler Qsflweldena

GSHA/2021 . 16



Which year was introduced proxy voting system for on their behalf of those who
serves in Military? |

2003
(B) 2004
(C) 2010
(D) 2018

(E) Answer not known

Ths P @Qrrapeussler uamfl Lyflueurser grigaflar ertunrs LS eursE siefls@L weann
Qarer(® eupliu L g)?

(A) 2003
(B) 2004
(C) 2010
(D) 2018

(E) o&flen Qs flweldvena

Who among the follqwing elected as a Temporary Chairman of the first meeting of
the Indian Constitution Assembly?

(A) . J.B. Kiripalani
. Dr. Sachchidananda Sinha
(C) Dr. Rajendra Prasad
(D) Dr. B.R. Ambedkar
(E) Answer not known

@pdu Sy (LF;]ITG!S)GGUTU_I gL — (P Sl SSler snarells semeeurts Csiey
QawiulLeui wmfr?

(A)  Cg.49. dmuerme

(B) Lnsr. ssélgrenps Semanm

(C) vmei. gnCypdy Gyens

(D) LT, 9.7, CLGEHTT

(E) aﬁlcm_G]g,rﬂuJaﬁ]Gmeso

17 GSHA/2021
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26. Which article provides the Constitutional Remedies to the citizens at Supreme Court

of India? :
(A) g Article 21 (B) Article 226
Article 32 (D) Article 18

(E) Answer not known

aps sl Gfley @pHu 288 BHoeapd pabd QBHU GLESEHES DTF®LUILY
sl uflasmyn QupeusHE el uens CQFlidlermg)? '
A) sirfwe siewwly sl nlfley 21 (B) eirflwe semwiiy sl nl9fley 226
- (C) rdwue ey s Li9fley 32 (D) <rflweé ey sl 9fe; 18
(E) e&Seor Gasflwelicvena

27. Match the List I with List II

List I List IT
(a) Articlel4 1. Abolition of titles
(b)  Article 15 - 2. Equality of opportunity in public employment
(c) Article 16 3. Equality before law
(d  Article 18 4. The Prohibition of Discrimination
Codes :

@ & @©© @
@ 8 4. 1 2
B 12 4

2

9 4 2 1 3
3 4 2 1

(E) Answer not known

ulgwe I g uligwe II 216 Qurmsgis.

g wied I uligwied II
(@) e&ngg 14 1. ulLmsamer @lsse
(b) &785g 15 2.  sire CumeeumiiiLsefle) Dienaremd@d FoeumiliL]
() &5 16 3. sl gdlen e SIMaTeU(HLD FLOLD
(d) &rsg 18 4. urgur® srTaTUMS S Q&g
GIMCE

@ ® @ @
(A 3 4 1 2
B 1 3 4 2
© 4 2 1 3
) 3 4 Z 1
(E) &b Qsflwelaoana

GSHA/2021 ‘ 18 _ c



28.  Which one of the following statements about a money bill is not correct?
J A money bill can be tabled in either House of Parliament

.\

(B) The speaker of lok sabha is the final authority to decide whether a bill is

money bill or not

(C) The Rajasabha must return a money bill passed by the lok sabha and send it

to consideration within 14 days
(D) The President cannot return a money bill to the lok sabha for reconsideration

(E) Answer not known : i

Spsaranib sMmssEsaN eTHs g Lar wCargrae LhH Seumreng)?

(A) uvewr wGsrsrsefler <idlupsorerg umprEpweam Q@ masailen gGsabd @rr

Sjeneuuiles SiMlpsd QEFiwtiLBib

(B) wsser ey suTBTWST WIS Lewr WCEsTETEUT Sjag FngTran EFTHTeUT

ereml (Pig6 QFuieum

(C)  uewr wWGsmgTes VUMMISS Uy WTHlOREET el 14 BT &SEHEEET LESET SMEUSS

ufaemear Qsiig) i@ emeiss CougmBid

D) uewr wGsTETMas AUINGFUI®T Glqws Geaai HUNFLMEES ESE UGS

wergranes SmUd Sigu Guing

(E) oo Qpfweicrana

= 19 GSHA/2021
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-

- 29.  Which year, the Indian Parliament had passed the “Protection of women from

Domestic Violence” Act, to provide justice and protection from violence within their

homes.

(A)
(B)
@)
(E)

2003
2004
2005

Answer not known

ahe e umprEsweapd (@) GOHLU euapemn Quansd LTgsTILE sLLE®S

Quipbluig

(A) 2003

(B) 2004

(C) 2005

CD) 2006

(E) et Gsfuicierana

30. What is the term used to denote the coexistence of two different features in an

_economy?
(A)  Technology
M Dualism
(E) Answer not known

Qren®  wppdlaud  Ceupuli

@@u@Luu@@m@?
A  miub
C) @rien semanio

(E)

GSHA/2021

efeL_ Qgflueidma

HETENLDSHEN EIT

20

®B)

(D)

(B)
D)

Dependency

Inequality

Qeruyu®ssls @oluug ereusumm

MBS B

goLbleenlo



31. Assertion (A): Productivity.of land in India is low.

IReason (R) : Small farmers are not motivated to produce more.
(A)  (A)is true (R) is false

j Both (A) and (R) are true, and (R) is the correct explanation of (Aj | |
(C) (A) s false (R) i1s true
(D) Both (A) and (R) are true But (R) is not the correct explanation of (A)

(E) - Answer not known

apm (A) : @Bﬁwmﬁ‘_@ Basden o pusds Hpen G@pains o erarg.

smyenrd (R) : &m leusmullser 2idls 2 HLSSH Celiw earg@GelliiL] @oame.

A @A) ef %j;ﬁm & (R) seup
_ (Bj (A) wipib R) Gran@id &M, Gogib (R) erémis (A)-efhe sflwran eflarsstd

© (A sy game (R) &

@) (A wpgd R) @re@ib &, eyeme (R) erarg (A)-efpe sfwrar ederiainda

(E) oflen Qsflweiena

e . 21 | GSHA/2021

[Turn over



32. Liberalization providing freedom to
Private Sector
(B) Industrial Sector
(C) International trade
(D)  Agriculture Sector
(E) Answer not known

SMTETDWILONESE SSHSTLD ULPMkIGeF)
B)  pefluni gopse

(B) Gsrfe geopss

(C) uwenam () euanfllasSnG

(D) Ceuetmanr FewmHES

(E) Iaﬁ]eml_ Qs flwelerena

33. Population increasing rate in the year 1951 decreases from 1.33% to 1.25% so this
year is called as

(A) Year of decreasing
(B)  Yearof shbrtage

' Year of small divide
(D)  Year of backward

(E) Answer not known

1951-y1b <y emged WwEEET Qsrens Qumss elflgn 1.33%-mpg 1.25% <s G@DHSS
ararGeu @B <2a(h Qeaurm WssILHE DS
3 A)  efley ya®
®B)  eopey O
€) Ay Qerey @
(D) Yengmdlu 6mr®
(E) dfer Qgflwalevenaw

GSHA/2021 22 ' | e



34. The author of the book “Iﬁdian Unrest” was
(A) Lala Lajpat Rai
d Valentine Chirol
(C) Tilak
(D) Annie Besant
(E) Ansvs%er not known

“Indian Unrest” eranm Lssssdem & flwim
A) erereguEymi

(B) Ceeare e &Gymedl.

© Hosi |

D) emaCusen

(E) &l Qsfweldene

35. What was the name given to the boycott of schools and colleges announced by
Gandhiji?
(A)  Civil Disobedience Movement
“(B)  Quit India Movement
Non-Cooperation Movement
(D) Champaran Satyagraha
(E) Answer not known

waTHLT SMHHE Seuisee Qarar® eurlulL udefl, sognfsd, sl Lwdam Lpssemflii
CurmprLsHh@ QUi eremen?

A) slionply Qusso

B) QeaudreemuCen QeuelGLy GuésLd
| (C) gsg@puTdL QUISSD

(D) - swugrer Gurym_LLb

(E) &lerr Qzfweilevene

o . 23 ' GSHA/2021
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36. Assertion (A): V.0. Chidambaram established a Swadeshi Steam Navigation Company.

Reason (R) : He wanted to oppose the monopoly of the British in navigation through the

coast.
J (A) and (R) are true and (R) is the correct explanation _of (A)_
(B) (A_) and (R) are true and (R) is not the correct explanation of (A)
(C) (A is correct and (R) is wrong
(D) (A) is wrong and (R) is correct

(E) Answer not known

FnMHml ;a2 fgourbd &6s8 suud Blpeuasmss CsrmidlarTir.
STTeTLD ! ‘@‘r_'r),é“lgu_lés é;L_,r_f)aaml;rasefﬂGb < mslCawisafler womflawvliamer e

TS TSSIT.
(A)  sapm wHHID sTyERTD Ffl. STFERTD aa;ﬁ;énm aﬂm&@ﬁm@
(B) smpm wHmibd sryewtd &l %GETHG\) snyanb ampeon elarsseilome
(C) samm &M; sryenrd seum
D) by seum; sryaTd &l

(E) &l Qzflweildvena

GSHA/2021 ' 24 e



37.

38.

On a palm tree of height 32 cubit, a chameleon tried to reach the top of the tree. If it

climbed one hand span on it but slipped four fingers on one day. How many days will

it take to reach the top of the tree?
96 days . - .)

(B) 69days
(C) 94 days
(D) 64 days
(E) = Answer not known

32 b 2@ w umawrsdad, LiGsthd et Ly 2 Ffaw S@LW PuOEDG. @
Brenené@ (b srawr gol prey eflyer EC QnriEdps aafled wr 2 Ffaw e uECemps
CTSSEET BHIETHMET 6T(NSSIHESTET(EHLD? :

(A) 96 pretser
(B) 69 prérser
(C) 94 prarser

- (D) 64 prerser

(E) eflenL Qs flweNdena

P, @, R, S and T are sitting in a circle facing the centre. If R is immediate left of 7
and P is between S and T, who is to the immediate left of R?

@A P - Q

© S - | 45 i

(E) Answer not known

Q( 6111-_1__'&_5551653, allL ewwsems Crradl P, @, R, S wppid T &Gt Siwipgiererert. T'
eSS GLuuph OFsLLGWTs B eeueumn, S wompb T odu @meiméeid
Qe Gu P aeuaumd Siwfpdmlumise aafled, R eemiemés @Liymibd SIPSsLILIGWINS
SILDABSIETET BHLIT WITT? :

A P . ® @

Cy 8§, D) T

(E) efen Qaflweferene

25 GSHA/2021
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39. The value of a motor cycle 2 y.ears ago was ¥60,000. It depreciates at the rate of 5%

per annum. Find its present value.

(A) 54,000 (B) % 54,050
(€) % 54,500 | I 754,150
(E) Answer not known :

Qm 5687 aunsand gandler alae 2 gy amHs@Epsd (e 60,000 26 QMBS iG6m WL
<@ HCsTnIL 5% eisb G@ndng. Sigear sHCUTMSWL WFHIMLE STawms.

(A) % 54,000 (B) % 54,050
(C) % 54,500 D) 2 54,150
(E) feoL Asfusidoama |

40. A and B invest in a business in the ratio 3 : 2. If 5% of the total profit goes to charity
and A’s share is % 855, then the total profit is

A) 71,425
B) 1,576
z 1,500

D) =1,637.50

(E) Answer not known

A vpmidb B @meur @ Ggmfle G]‘Q')TT.I_I'Eﬂ&'» 3 1 2 arap efflgsdled 1pseS® QewigieTana.
Qurss @erusda 5% Qsrean® HpauasddeE auphsiuGAng. whnb A & ukig I 855
crafler Qrég @eTuLd eTemeT? :

A) % 1,425
B) 1,576
(C) % 1,500

©) 153750
(E) el QgMweilcoana

GSHA/2021 26 : : =



41.

42.

The HCF of two numbers is 2 and their LCM is 154, If the difference between.the

numbers is 8 then the sum is

@) 26
,9{ 36
©) 46
D) 56

(E) Answer not known

Qm cremsafien 8.Qu.eu. 2 wpmib SjeupBler B.8.0. 154 oicued@m aans@sédenGus 2 erer
Geaugun(® 8 erafled ieupilen s(Hsew :

A) 26
®B) 36
(C) 46
D) 56

(E) dlenr Qaflwelerencw

Which of the following cannot be the HCF of two numbers whose LCM is 120?
4) 60 (B) 40
80 - D 30

- (E) Answer not known

I 120-g B.8.10. —ss Qsrar. @m aamsERéEEL GameuBl ahs cTaTamTaTg ieupblen

B.QL. 61245 B) (556 BUTS).
A) 60 (B) 40
0 | @) 30
) oL Osfucoma

27 GSHA/2021
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43. By selling a bicycle for ¥ 4,275, a shopkeeper loses 5% for how much should he sell it
to have a profit of 5%?

(A) T 4,625
{{ % 4,725
(C). % 4,825
(D) 4,925

(E) Answer not known

Bifleuamg @éaep em seoLsamyt T 4,275 &@ elhugsrd eumsaE 5% HLLb goudHnsg

arafler 5% eruib Qup CeuarrB@wafler ieui L euaigemw eranar elamasa eflhe Colam(HIb?

(A) 24,625
(B) © %4,725
(C) 4,825
D) 4,925

(E) &fen Qsflwelerene

44. A number when decreased by 20% gives 80. Find the number.
A 40 . (B) 60

d 100 ' (D) 120

(E) Answer not known

@6 aaear 20% G@psgre 80 SaLsElng) rafle) ibs aamTameRts SRS,
@) 40 (B) 60_
(€) 100 | D) 120
(E) den Qsflwelcrened

GSHA/2021 ' ; 28 =



45.

46.

3
o =

_ (E) Answer not known

If the median of a,2a,4a,6a,9a is 8_.. Then find the value of ‘@’

@ 8

B) 6
A
1) 10

(E) Answer not known

q,2a,4a,6a,9a@e&r @an_flena 8 eremmmed ‘@’ @em LI STERTS.

@) 8
® 6
© 2
@) 10

(E) dflen Qsflwalerene

The median of the data 24, 29, 34, 38, 35 and 30 is
L : . _ :
B) 30

€ 34

sraysdr 24, 29, 34, 38, 35 wHmb 30 Ger Pe_Hoawaay

(A) 29
® 30

© 34

@) 32

(E) clenL GsMwaelldvene

29
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47.  For which set of numbers do the mean, median and mode all have the same values?
A 2,224
W 13335
€ 1,1,256
@) 1,1,2,1,5

(E) Answer not known

1Slemau(HLD  GreRT an@Qaserﬂsv gy, @ml_ﬁlmm LDDHMILD (_Lpa;@ @Cr wduurs ewyb
Cgr@d erg)?

A 2. 2.2.4

B) 1,33,3,5

(C) - 1,1,2:5,6

@& 11215

(E) o&fen @g,rﬂmaﬁlsbémm

48. Let m be the mld point and b be the upper limit of a class in a continuous frequency

distribution. The lower 11m11: of the class is

'/ 2m—b B) 2m+b

m—-b _ D) m-2b

(E) Answer not known

enwwliLerafl m, Qgmoi ﬂas@@suﬁ upeuallen e Afallen Guaeraena b’ erafled e

&L erévene
@A) - omb | B) Binb
© mb D) w9

(E) e&fen Qsflweicvana

GSHA/2021 : 30 -



49. A rod has a mass of 100 g and length 1 m. Its radius of gyration perpendicular to its
length and passing through its centre of gravity is

w 0.2886 m

(B) ~ 2.886m
(C) 0.02886 m
(D) 0.2688 m

| (E) Answer not known
100 8 fepud 1 m Sarapb 2w sam® gadar Sasdbe QemGssraab milder
Wb euflursab Qsd@ib siFmes QUTHSS SLRHE pTD -
(A) 0.2886 15
(B) 28868
(C) 0.02886 15
(D) 0.268815
(E) e Qs flwedlerene

50. Which of the following is incorrectly paired?
(A) 1 astronomical unit — 1.49 x 10''m
8y 1 light- year — 9.46 x 10"°m |
(C) - 1fermi—10"%m .

1 Atomic mass unit — 6.17 x 10> kg
(E) Answer not known -

SpSHTLaUDDIET TS g,emﬁ;rra; QurmssiuL_(Harerg?
) 1 areflue siwg-1.49 x 10" 8

B) 1 gelwurar@® — 9.46 x 105 8

(© 1.Quinfl—107"°8

D) 1 eogdopes—6.17x 10727 44

(E) ofer Qgflwieferanew

o= ' 31 GSHA/2021
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51. Which pair of elements has the similar chemical properties? (Z means atomic
number)

A) Z=14;7Z=22
d Z=11:Z=19
© Z=47Z=21
©® Z=27Z=4

(E) Answer not known

emaumib a5 Cgmy saflwmiser @55 Cafltiuamysemer Qupmierers? (Z = <igm) erair)
@) Z=147Z=22 | '

B Z=11;Z=19

(C)\ Z=4;Z=21

D) 2=2:7Z=4

(E) ofan Qsfwelvane

52.  Which one of the following reduces Tollen’s reagent?

% " Formic acid

(B) Acetic acid

(C) Benzo Phenone
(D) Benzene

(E)  Answer not known

Slemeu(peuameuDmIGT eTh emm) Lmeveren elenaid sryeamilapi @h&Edng?
@) UninfE ol

B) =8l és e

(€)  QuenGsm SGammern

D) Quendar

(E) e Gsfluciome

GSHA/2021 32 | el e



53.

54.

The taxonomy which involves the similarities and dissimilarities among the immune
system of different taxa is termed as :

(A) , Chemotaxonomy ' (B) Molecular Systematics
Serotaxonomy (D) Numerical taxonomy

(E) Answer not known

ueGeuny euamsliul L sreuy Crrlwdliiy wearossler gnmewser wHNWL CeubmienoseT
SiLmdw auansium( .

A Ceuglw QuanEL] ur(® ; : (B) epossam euemsiiuim_ () @;é‘mmﬁ:u penm
(C) eafient cuensiiin@ (D) erameniiic cuaas LT

(E) oferr Qsfwelerane

Match the following minerals with its deficiency symptoms?

(a) Exanthema in citrus 1. Zinc
(b)  Hooked leaf tip 2. Copper
(c) Little leaf 3. Potassium

~(d) Curled leaf margin 4. Calcium

@ b @© @
g - 1 1

3
B) 2 3 4 1
(k3 3 2 1 4
D) 1 2 3 4

(E) Answer not known

G‘Im@é&;ﬂuL@dTm saflwmsafler uHpréEGon Comi SiflGHlsEsL 6 QUTHSS!s.

(a) &lpev greugssle 1. gssHIEHD
T&ETHSLOM
(b) Qasrsd Gurem Geoe mefl 2. smAFD
() &ndlenew Crmi 3. Qumirmflwib
(d) Qe eflaflibLy smerged 4. sreodwib
@ ® O @
)y 2 4 1 -3
i - 33 4
© -3 2 i
D)- 1 2 3 4
(E) &fen Qsflwefcvenaw
33 = GSHA/2021
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55. Choose the character not present in reptiles among the following,
(1)  Mesonephric kidney
(2) Scales
(3  Uricotelic

(4) Warm blooded animal

@ ®and@
B (@ and (@

(€ ()and (@)

e

(E) Answer not known
SpssamLaupler earfeuareupdled smerTiILL 15 LGS aeans QzMB0sHEseLD.
(1)  BCsn@p..Lifs AyBrand
(2 Qedasaer
3) w & oifle F&d

4) Qeuliu Qrss eflevni@aser

Aa) (1) wogid (2)
B) () wppid (3)
©) (3 wpgd (4)
@ () wpgid (4)

(E) oo Qsflwelcrvenad -

GSHA/2021 . 34



56.

57.

The key used to rename the selected file or folder is

A)
©

(E)

F4

F3

Answer not known

(B) F1

s

Gsitey Qewwtiul L Gamiy eeg Camiymmuller Cuweny wrhmus Liweru(bid @urr'{r,grrs&r

A)
(©
(E)

F4
F3

e AgMweldae

World’s First Malaria Vaccine

)

Mosquirix
(B) Bedaquiline
(C_)' Clofazimine
Cycloserine
(E)  Answer not known
2 adflar s LCRWTE 56 ug‘ﬂ.
(A)  wevEfsen
B) QuLTE®E
(©) ECammunsevoes
(D) ssCerrafen
(E)

aflenL Qs Mlweferana

35

(B) F1

(D) F2
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58.  Exposure to light may accelerate aging.

M Blue

(B) Green
(C) Red
(D) Yellow |

(E) Answer not know_n

B pafl aiiens SNELOES 56w
A) e
(B) ué&ms
© S
D)  wepser

(E) e&fen Qsfweleene «

59. - In yhich year were Electronic Voting Machines used first time in India?

1998
(B 1997
(C) 1996
D) 1999

(E) Answer not known

Qodureller  wsar sl aps an® Wawgy s ude; andpd (EVM)

HwerL(HSS I L g|?
(A) 1998
(B) 1997
(C) 1996
D) 1999

(E) efar QsAweldrana

GSHA/2021 36 . ' (o



60.

61.

How many BRICS summit were conducted till the year 2020?

A 10 (B) 11

Mlz : D) 13

(E) Answer not known

2020-y1b e cueny erggenar BRICS wrpr@aser penLQupmierensg)?

A - 10 (B) 11
© 12 , (D) 13

(E) &fenr Qsflweicranay

Who give permission to produce State Budget?
(A) Prime Minister

(B) Minister

(C) Chairman

M Governor

(E) Answer not known

B8 fleve siflsens wrflekisEréEs a@mg wrAlib Qup Ceuam@ib?
(A) Gysio wHSM

(B) élemmé&fra;&

©) sowwt

D)  Eppi

(E)  eflanL @g,mua%mm

37
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62. What is the mame of the latest earth observation satellite launched by ISRO .
(7tr November 2020) from Sriharikoto?

A)
B)
(©)

o

(E)

GSAT-30
Cartosat-3
GSAT-31
EOS-01

Answer not known

2020 peubuir 7@ HenfGsr Lredfmhg ISRO-aurd ofamafiier Qegssini el

sanstanilly QewnamssGaraflen QuUwT ereme?

(A)
(B)
(©)
D)
(E)

GSAT-30
Cartosat-3
GSAT-31

EOS-01

elen Qzflwelcrena

63. In November 2020, very severe cyclonic storm ‘Nivar’ made its landfall near

()
(B)

D)
(E)

Gulf of Mannar
Chennai
Marakkanam
Pudukkottai

Answer not known

weubum 2020-6 2 meuran i) Seily uwied Fleum sepgepw HL_HS @GL LD

A)
B)
©
)
(E)

GSHA/2021

LDGITGUTITIT GUEH G (&L_IT
C&emene

LD &S TETLD
LgI5Cam_enL

efleL Ggflwelleene
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64.

Match the following :

(a)
(b)
(c)

(d) .

A
(B)
©
D)
(E)

New Health Insurance Scheme
Amma Arokya Scheme

AMMA Scheme

THAI Scheme

(@ G @ «
R aeh e

3 4 1

b b

S e
g TiE

Answer not known

QunmEEs :

,(a)_
O

©

(d)

@A)
(B)
(©)
(D)
(E)

LW EEEe ETOSLGS Sl
S|bLom %Gurrs;u_i S Lib
'@ybwr HiLb
Smis S
@ ® @© @
4 3 2 1

2
4 3 1 2
=

eleL Qgfueidame

39

1. 2011

9. 2013

3. 2016

4. 2014

2011

2013

2016

2014
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65. - National Archives of Indisa (NAT) is Jocated in
(A) Kolkata . (B) Mumbai
(C)  Chennai | M Delhi

(E) Answer not known

Coélu eUTESTLILISGLD eHSIETET GL 1D |

(A) Qarasst . I (B) @pwenu
(C) Qsemewen | (D) Qréel
(E) efer Qzflweleerer -

66. Consider the following pairs :
1. Rukmani Devi Arundale — Kalakshatra

I.  Ravi Shankar - Séngeet Natak Academy
III. M.S. Subbulakshmi — Raman Magsaysay Award
IV. J. Krishnamoorthy — Bharat Ratna

Which of the pair given above is/are incorrect?
" (A) TIandIVonly :

(B) I only
(C)  II and III only
IV only

(E) Answer not known

Gasr@ssiul (Herer Qevansate ag)/eranau saupraTael eTam @GHILidHas.

L méwef Csel amanCGLed - sonrCaggym

II. el FRIST -  sRSS BIL& FenL
IOI.  enb.erav. s &) —  pmoer w&EGs eflms)

IV. Gg. dmegarapiss L= ungS gHen

@A) T wpyo IV v @

B) o o
(©) I wogyod I wi @b
(D) IV wi @b

(E) e Qsflwelerena

GSHA/2021 40



67.

Match the following rivers with its place of origin using the codes given :

Rivers ' Place of Origin

The Indus 1. Gangotri

The Brahmaputra 2. Chemayungdung

The Ganga 3. _Mahabaleshwar
4. Manasarovar

The Krishna

@ ®® (@©@ @

4 1 2 3
3 i 1
4 1 3 2
2 3 4 1

Answer not known

&Gy QarRssuu_(erer pHamer igar 2 HLSS @b QL hsCarr® Qummss GHuSGsmer

vwenu@sd eflen_wefléseyb.

phiser > pusBuITED> @i
(a) Spg ps 1. saCsargM
®) SIS B 2. QabomuyriL
(c) Gybwusdly B 3. wesruCGeayeur
(d) aﬂ@dq,.mrr [t 4. mnm&@unsﬁr’r

@& ® @ @
Aa 4 :: 2 3
&y '3 -2 <4 1

(C) - 4 1 3 2
o 3 g
(E) efen Qsflweleranew
41 GSHA/2021
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68. Which method has been used to identified biodiversity through remote sensing and

GIS?
(A) Data analysis J Gap analysis
(C) Statistical analysis (D) Scientific analysis

(E) | Answer not known

Qsrere miGTgmiene) LHML Leludwed ssaud Qsred apeors o ulflens U@L
LGS0 DIEOLUITETLD STERT 2 (HeUTSSUILIL L. (LPedD 6TF)?

A) sreyl ugLUTLe] WPeD B) @ Geuefll ugLLMiey Wen

(0). yereflefleurs ugLLMLE) PP (D) <ifedwe ugLuTia) e

(E) e Qg flwelldvene

69. Consider the following statements and select the correct answer :

Assertion (A) :  The developed countries have a low growth rate of population.
Reason (R) : African countries are having highest growth rate of population.

(A) _  (A) and (R) are correct and (R) is the correct explanation of (A)
(A) and (R) are correct but (R) is not the correct 'explanation 0f (A)

(C)~ (A) is true but (R) is false

(D) (A) is false but (R) is true

(E) Answer not known

Spéaa. aunsdlumsamer seaualsg sflwrer el aws Cobosd.

sgamn (A) : QUGS BT(HEET GMDeUTET &&ETAFTns cueTiéslanwis Csmem(HeTang).
smenb R):  090ss prOser sflsorer esaagmms aerisfmus Qsrar(arag.
A) (A wppd R) @rad sf, Cugib (R) aemg (A)-a9h@ sfluner efarésid

(B) (A)_ womid (R) @rar@®w &, game (R) erearug) (A)-adn@ sflwrer eflarésind e
(C) (A) sl yame (R) seum

D) (A saum gemed (R) &f
(E) ofer Gz flwelerena
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70.

Match the following Indus Valley Civilization, Geographical

Settlements :

Geographical Area . The Settlements
(a) West . 1. Alamgirpur
(b) North . 2. Daimabad
(c) South . 3. Shortugai
(d)

S

(B)
©
D)
(E)

East ' 4. Sutkagen-dor

@ ® @© @

4 3 2 1
1 2 3 o
E 2 1 3
2 4 3 1

Answer not known

pgl prafagsden semweil_samsub G ullmuysmeryb (umHss)s.

(a) |

(b)
©
d

(A)
B)

©

@)
(E)

Hefudlwied emwedlL b Gl ulmLiLsar
CuneE : 1. yebdiyT
QUL &S 2. asTUS
QzHE 3. anni_(Hens
fipse ' 4. sl snlger i

@ 0 @@ @

4 3 2 1
1 ¥ giog
4 2 1 3
2 4 3 1
eflenr Az flwelcrens

43

Area with the
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i1,

poem was composed by Gangadevi. .

A
(B)
©

(E)

Manucharitram
Amuktamalyada
Panduranga Mahatmiyam
Madura Vijayam

Answer not known

@)
B)
©)

)
(E)

GTGUTM [HIENGY a;réiesrr@gpaﬁl (e
wensfsym

APEFLOTOWIST

LmresT(Hhis &ETSBIWLD

Log)rmelleguid

eflenL Qg Mlwafdana

72. The royal secretariat of Pandya Kingdom was known as

(A)
(B)

Mangalam

Kudi

d Eluttu-Mandapam

(E)

ureirig w Guypélen oirsd Gaweasid -

@)
®)
(©
D)
®)

GSHA/2021

Vala-nadu

Answer not known

LDBIGELD

@'y

(PSS! LDGRTLLILD
auar B

eflenL_ Ggflweldeme
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74.

The National Commission for Women was setup in

(A)
(©)
(E)

)
®)
©)

<

(E)

Answer not known

1989

1992

. ellenL Qg flwelerenen

Which one is not matched correctly?

Staff Selection Board

Andhra University

Annamalai University

Hindu Religious Endowment Act

Answer not known

CThHS @ anant sflwins QummBHSeSleana

A)

(B)

(©)
(D)
(E)

uemflwmreri Gg ey eumflwid

S BSTT LOSDOSLPSLD

S| GHTEMTTLOENED LIGDEENGHLPSLD
@ BgIFnWL SinBlepeuiF FL LD

aflent Qg Mweilcrene
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(B)

D)

(B)

(D)

1990

1994

- QuensEnésTar Co&l pmemuLD MESLILIL L peT(H

1990

1994

1924
1925
1929

1936

1924
1925
1929

1936
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75. When was the Article No. 370 removed_ from the Indian Constitution?

(A)
(B

(D)
(E)

5th January 2019
5th March 2019

5th August 2019
5th December 2019

Answer not known

@QrHwu srHlwaeamvlielmhg 370-ag 158 erLCUTIg Bésliu L g?

@)
B)
(©)
(D)
(B)

5 smaveufl 2019

5 mr& 2019

5 gysev 2019

5 geour 2019
aflenL Qs Mlwelidena

76. Under the Constitution of India which one of the following is not related to
fundamental duties?

(A)
©)
D)
(E)

To develop the scientific temper

To vote in public elections

To safeguard public property

To abide by the constitution and respect its ideals

Answer not known

Spargpd dlfsaller aps gam @rHu rfued S@wly SigluemL  SLesarier -

cuflenganwl &TibHES) e ?

(A)

(B)
©)
D)
(E)

GSHA/2021

sflefwed Cesrium®, welsGpub Prmiss wveriuraemn wHmn ErHmSsD
S AUH®D eUETTSESD

Qung Caisasafiler aursseaisse

@e&r@mpmu_l a6l () Qung Cemggissamer LNGISTSS6W

SrFmwlbnE Spuig Hg S5HG wilwuramsg efggo |

eflenL Qg flwelidvena
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77. ~Who among the following control the entire financial system of the country at both
the level central and state is?

(A) Reserve Bank Governor
(B) Finance Secretary
W Comptroller and Auditor General of India
(D) Niti Aayog Secretary
~(E) Answer not known
oiSu, wrhe erssdar &) Guieh Cuiss B8 S@videar s ELLEEEIL SFsmd
wirflLb 2 6Terg? : : '
(A)  Aemeu euraidludien o @EBHT
B) PHsgep Qswar
(C) @ndusmaed sSarsdE SantlsamawTeTt
D) B <=Cwns - Aswerr
(E) | eflenL G flwaldwena -

78. None of the following is a Lok Sabha Session?
(A) The Monsoon Session
W The Summer Session
(C) The Winter Session
(D) The budget Session
(E) ‘Answer not known

Qeeu(meuareuHmied 6T o&serenat sl L SESTLIT e ?
Q) umeuste sl LFASTLT

B) CareLsme sl L Fgm it

(C) @elliare sl sAzTLiT

D) ape-Qsae; sifléms sl LsQsmT

E) e Ggflwusideame
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79.  Which one of the following language was not added in the 8t schedule of the
constitution by the 71st Amendment act 1992?

Dongri -
(B) Konkani
(C) Manipuri
(D) Nepali

(E)  Answer not known

Epsseau QomfseEndr erg) 71—.9_@ SHmsss s 1b 1992-a @f;mh @mé]u_lsuémmﬁnﬁ]én B—mg

<L auenaniuder CansasliuL_cfleenen?

(A)  GLmid
B) Qsmisa
€ wefuyf
D) Gpurad

(E) &l Qsflweldrena

80. Central information commission comes under which ministry?
(A) Ministrylof Home affairs
Ministry of Personal
(C)  Ministry of social and empowerment
(D) Ministry of Brdadcastihg

(E) Answer not known

LSS &6 ETULILD 6THS DAaMFFESH e S UBEDS?
(A) o digien SmwESSLD

(B)  uemflwmeri pev ienwFFsLD

(C) eswstd fsmvalisss mwéssid

D) gealluriy si@wéssd .

(E) ol Qsfweldana
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81.

82.

The concept of economic planning in India Five Year Plan is derived from

(A)
(B)

(D)
(E)

America

- England

Russia (then USSR)

France

Answer not known

@pdwreller gHsran®hs Hmsedr eurllorst Qurmermary S bl e Gmm@anm@m
perm el SmellssiLlLg?

(A)
(B)
(©)
@)
(E)

2(@willéaT

@réé]sunﬁ)éj

wprangw Crrefws U@#U.II‘I’ (USSR)
LYl yresren

eflenL Qg Muwelerena

Which of the following fact is false?

(A)
(B)
(©

(E)

Chennai is the health capital of India

Tamil Nadu have 7 Agro Climatic Zones

Largest Paper Mill is at Karur

Tamil Nadu have the first place in rubber production

Answer not known

Yemeumid sanmsatied erg) ga.u[prrangj?-

(A)

®)

(©
D)
(E)

Qgenenar, @BHwreler mSSIeUS SMOBSTLD

s 0asdle e Casarméir STHENE) LOERTL_OBIGET 2_TarTe
Blet@uiiu srdlg 2 Husd Himeuand sepfle 2 drerg|
@ruui 2 pusHuder s8lpad apseilLib Qubmidars)

eflenL Agflwelcdena |
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83.  Choose the incorrect statement :

I
II.
1L
IV.

(&)
(B)
(©

(E)

A Kisan credit card is aimed to have quick and affordable credit to farmers.
Agricultural Produce Market Committee is a non statutory body
To promote agriculturéi activities is the function of APMC

APMC provides market led extension services-to farmer

Iand II
III and IV
IV only -
II only

Answer not known

QuTSSLHD Fmbhdleer searr_Mls.

¥
I1.

II1.

IV.

@
B)
(©)
(D)
(E)

GSHA/2021

2 el sLeT Ll eleusmuisErs@ efaranseab $@HECEHUAID SLGT aUPBIEGLD

FHUTL MG

. eYleugmu @Qn@L&@ésasrrm omsrysGw (APMC) ¢m gL L LI ffauLomen NN

S
Geuermadr HL6iq EMESHMET 2aré@edlLILg) APMC-en uanflungid

APMC spang snihg effleunés Caameusamer aulpmi@Sng)

Iopow IT -

IIT whmn IV

IV ol @b

II ol @b

ellenL_ Ggﬂuaﬂé}mm
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84. Which of the following is wrongly matched?

@A)
©)
(D)
(B

Gatewéy of Tamil Nadu — Thoothukudi

Home Textile City — Erode
Steel City — Salem
Pump City | — Coimbatore

Answer not known

Ep&HeRTL @maﬂaaﬂsﬁ T8l Heummals GummesSUILL (HeTerg)?

&)
(B)
(©)
D)

(B

85. Sh;id

HUIPHT e Giepairudle  — SHIE5IEG:
saafl 2 DLGSH BeTD — wGyr(h
@@y psyh — Gsad

UL B&ETD — Garwbysgnm
ellenL_ Qgflweilereney

di movement was started by

Dayananda Saraswati

. (B) Swami Vivekananda
(C) Ramakrishnar
(D) Sri Narayana Guru
(E)  Answer not known
&5 Qusssms QT rdweur
(&)  swranss syevaug)
B) samd CGausTans
C) @umodmeigeni
@) B prmuer @
(E) - &len Qgflwelidvana
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86. The Home Rule Movement in South India was started by

@A
© -
@)
(E)

Tilak

Annie Besant
B.P. Wadia
Col H.S. Olcott

Answer not known

Qzearaibdwumreie seararmid @uiGsD WMTTE® FHeudsLliLL L g)?

(A)
B)
©

D).

(E)

Sesi
Seirell @ LFaTL

9.9, G)I.IE‘I‘!q.UJIT

Col eré.erev. s

clenL G flweileensaw

87. Who has been hailed the ambassador of hindu muslim unity by Sarojini?

(A)
B)

D)
(E)

Mahatma Gandhi
Jawaharlal Nehru
Jinnah

Motilal Nehru

Answer not known

@bg peveSib ghmiewulen grgeur rar sGrrgllaflwiméd Lswpmrb @ LuQudpet wi?

A)
(B)
©)
D)
E)

GSHA/2021

D&TSLOM HMHE)
seuamiere Grm
shletmaur

Cuordore Crm
cllenL Ggflwaierena
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88.

89.

The value of (13+2%+3%+---+15%)—(1+2+83+---+15) is

(A) 14400
(B) 14200

14280
(D) 14520

(E) Answer not known

>

(17428 +3% +++15°)~(1+2+3+-+15) lr oy rcinen?

(A) 14400
(B) 14200
(C) 14280
(D) 14520

(E) & Gsflwaldrae

If 1424+3+:--+n=666 then find n.

@A) 37
o 36
© 38
@) 35

(E) Answer not known

1+2+3+::-+n=666 arafle, n Qe L] sTawms

A) 37
@ 86
(C) 38
@) 35

(E) oo Qsfuelerene
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90. A metallic sphere of radius 16 ¢cm is melted and recast into small spheres each of
radius 2 cm. How many small spheres can be obtained? '

@) 412 ' Mmz

e B2 D) 421

(E) Answer ndt known |

16 Qa8 <yyapater @ o Carslups, emesLLL® 2 Qs  yyepdrer  Am
UBSISETTESLULL LT THSEET LibGISET SlenL_&@HWn? :

@ el B) 512

(€} 821 : (D) 421

E) oo Osfusdaoeme |

91. A sphere, a cylinder and a cone are of the same radius, where as cone and cylinder
are of same height. Find the ratio of their curved surface areas. ' '

M 2\_/5 N2:1
(B) 2:1:4/2
(€) - 2:42:1
O 2/2:1:42
- (E) Answer not known
@m Gsmerid, 2 (mear wHYID &bl pEweubbdler L ImseT Fo. salbdl] LHMD 2 (Hevaruler
2 WITRISET 2LT&SDEE s erafled, Seupdler euanarurliLsaflen efldlsb srams.

A) 242:42:1

B) 2:1:+/2
© 221
M)  242:1:42

(E) Ao Qfuicdoreme
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92.

93.

s
5

(A)
(©)
(E)

£
5

oo |

A4)
© -
(E)

% then (x+5):(y+8) is equal to

3:5 (B) 13:8
8:5 58

Answer not known

eradfly (x+5):(y+8) & greng).

3:5 ' «B) 13:8
8:5 (D) 5:8
efevL Qg Mwelaeana

A mat of length 180 m is- made by 15 women in 12 days. How long will it take for

32 women to make a mat of length 512 m?

A)
®)

(E)

180 8

13
14
15
16 -

Answer not known

Berperer g umbenar 15 Quesar 12 prisefle Qeligant. 512 5 Beraperar ¢

umiener 32 Querser QFLILI TSSMET HTL&ET < ELD?

A)
(B)
©)
(D)
(E)

13
14
15
16

e Qgflweldame

i GSHA/2021
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94. The product of 2 two digit numbers is 300 and their HCF is 5 what are the numbers?

y 15, 20

B) 10, 20
(C) 15,25

(D) 10,15

(E) Answer not known

Qe rlloss aaselar Qumsshumer 300 wHmd Seupdler B.Au.eu. 5 erafle,

Si6uCleuamTSET WITeneU ?

A) 15,20
(B) 10, 20
@) - 15,25
(D) 10; 15

(E)  &llenL Azflweerene

-

95.  The number of number-pairs lying between 40 and 100 with their H.C.F. is 15 is
@ 3 | ) 4
<€ 5 (D) 6

(E) Answer not known

40 apse 100 euenyuerer eramsaticy erggenen erant Gegmg safler 15.Glu.au 15 2,6 Qm&ELD.
A 3 | ' B) 4
€ 5 D) 6

E) fevr QsMweldame

GSHA/2021 = 56 : c



96.

97.

8.94x8.94x8.94-3.56x3.56x3.56 e
8.94x8.94+8.94x3.56+3.56x3.56

The value of

& 0588 T o 535
(C)* 0.0538 | (D) 53.8
(E) Answer not known

8.94x8.94x8.94-3.56x3.56%x3.56 : :
&1 Lol LIL| GTeimen?
8.94x8.94+8.94x3.56+3.56x3.56

(A) 0.538 (B) 5.38
(C) 0.0538 - (D) 53.8
(E) ofen Qsflweldane

The value of :4——[_—3] +!::45--—@] 1s
3 2 et

3 13
ST ©
-+ -4
= s

(E) Answer not known

) e

508 v g

(A) lg (?) -
4 -4
© - : D) s

(E) &fen Qsflwefcvenew

57
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98. The number of times an observation occurs in the given data is called
(A) Tally marks
(B) Data

V Frequency

(D) Numbers

(E) Answer not known

Qar@ssUUl LE sreisaie @ wily assmen @aﬁrp UM DG cTend ﬁx@]@gj S LILE MR
A) CoprsCsasm (s Ghser

B) srey

C) HapCeuar

D) canse

(E) dllenL Qaflweierensw

99. Two numbers are in the ratio 5 : 7. If the sum of these numbers is 108, then the

larger of these two numbers is
j 63 (B) 49

a5 ' (D) 42

(E) Answer not known

Qm eamsaflen efdsd 5 @ 7 HaCeuansafler sa(piged 108 araild sieuelm cramsefley Quifiw

A4 63 e ' (B) 49
© 35 | _ (D) 42

(E) ofer Qsflwefcrene
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100. The line graph shows the annual percent profit earned by a company during the
period 1995-2000. Study the line graph and answer the following :
If the expendlture i 2000 1s 25% more than the expenditure in 1997, then the
income in 1997 is what per cent less than the income in 2000?

Income — Expenditure

%Profit = 100

Expenditure

70+

60+

Profit percentage
8

(40)
30 :

204

101

1985 1996 1997 1998 1999 2000
Years :
(A)  22.5%  (B) 25%
G 275% . (D) 31.25%

(E) Answer not known

Qerhssuul L Carl( euges euanguLLd e Hlneuagder 1995-2000 b oyarh @eru
F5eissms GHILUSTEL. Qsssaumas Caram® 2000 b o @mger Qeweland 1997 =yib
amgen Qeweiaseans ol 25% fan aeafier 2000 yameLs srigad 1997 b
2},ETIq 6T GU(HLOMTET ESEISHLD GTELEIGTE GEDE?

au(mLomend — Qeeeded

% @eomuib = x 100
: Qseeilerid
70
2 60-
Q 6
2 50
g
2 404
@ (40}
30-
=
10-
! 1995 1996 1997 1998 1999 2000
- (ML e
(A) 22.5% . B) 25%
(C) 27.5% D) 31.25%
(E) dllenL Qaflwalerenaw
c : 59 E ~ GSHA/2021
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Failure to comply with any of the above instructions will render you liable for such action as the
Commission may decide at their discretion.

GSHA/2021 ' o=



